
Oral Enercises
Read each equation in standard forr4. Then tell what the values of a, b,
and c are for each equation.

l.3ft5x-2:O
4. 5d2 + 9d:2
7.8m2:m*5

10. z: l0z2

2.3a2-9a*5:0
5. f-7x:4
8. 6 - q2:4q
tt. 8f:3

3,2p'+7p-3:O
6. v':6y-7
9. 5f:7x

12. t2f : o

Written Exercises
Use the quadratic formula to solve each equation. Give irrational roots in
simplest radical form and then approximate them to the nearest tenth. You
may wish to use a calculator.

A t.x2-3x-lo:o
4.2y'-6y-8:0
7.f-6x-ll:o

10. n2-6n-l:O
13. -4x2+2x+3:0
16. 4v2 = lOv - 5

Solve.

B 19.a2to.7a-o.l:o
22.P+|'+!:o
2s. |x2 + j"+ t:o
21. 3x= -*+l:ox+2 .x-l

2.2s2-3s-2:o
5, z2-52-6:0
s.P-3k-l:0
ll.7x2+2x-2:O
14.i'-6i:ll
17.3x2*8x:2

20. 3x2 - l.8x + 0.03 : 0

23.2c2+tc+!:o

3.522-llz+2:o
6.m2+8m*7:O
9. r2+ 8r*5:0

12. -222 *82*5:0
15. 4y2 - l2y: -7
18.2r:5-4r2

4r2 :0.6r * 0.5

-r + 1:1+ 3

26.

28.

21.

24.

I _ 2 _33 2y+l y

w-t3 7 ^

-:1

w-l w*5

The roots of a quadratic equation af + nx * c = 0 are

-h + \/Fffii ' -b-\m;ano 2.

C 29. Find the sum of the roots of ax2 + bx -f c : O.

30. Find the product of the roots of ax2 + bx ! c: O.

31. Write a quadratic equation whose roots are 2 t t/5. (nntt Find the
sum and the product of the roots. Then use the results of Exercises 29
and 30 to find values for a, b, and c.)
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